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Wagner’s law (adolph wagner 1835-1917)
GDP US in 1870 was around 1% of GDP US 1998
GDP in real prices US in 1900 was 590 billion dollar, 7% of this is 41 billion dollar; today the US public sector expenditure is around 34% of a GDP of 21.4 trillion $ or 7.3 trillion$ or 178 times more money available. 
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OECD total net social spending (includes private as well as state social spending) in the US is now around 29% of GDP (only France is higher at 31%) this is due to a lot of tax incentives and private social spending
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